414ER

HI6FE ? f Et =

1AOFED  wa
Y s BETH 16:30
B | RGOS 1 2 3 4 5 6 7 |wE|=soms| Temrea & =
1 |&|swavo-1 =g | 0% | 8% | we | w5 | | | x|1350]| 1405 P |~
2|t A n#! ﬂ
3 |B|xitos wEBELE X
4 |B|FBIKE BEDELE X
5| RS | W2 | W3 | W4 | K5 | N6 |[ZPT|O[ 15560 | 1630 |(vERERTR
6 || HERTIRLRER (~ K1 | k2 | k3 | k4 | X5 | X6 [ZhT|O[1550| 1630 |omiEernszk
7| A|jog TEIBEREIV=Y | ke | k2 | &S | A4 | #E | %8 | Y2 | x| 1515 | 1630 |JOFEERT I
8 |&|evtiEna &1 | @2 | €3 | @4 | @5 | £ | & 15:35 | 16:30 |e0iths
9|t A
10|8| &) A
11(8| BI=ze) B1| B2 | B3| B4 | B5 |ZT| & | x[1455| 1510 |eizEmr2t
12| (=) BB | W2 | W3 | W4 | W5 | W6 |ZhT|O|1550| 16:30 |vsmEies
13| K| 22 HREHET R M EIERR K1 | K2 | K3 | K4 | KE | K6 [ZepT| X[ 1550 | 1605 |oxEHEsH#
14| K|eosmEEst A1 | A2 | A3 | A4 | A5 | 555 | ZhT| x| 1550 | 1605 |evs@mes:
15| &|60nEses: &1 | &2 | €3 | &4 | €5 | ME |ZPT| X | 1550 | 1605 |60xEBEH
16| t|mEnmLe X
17|B|zE0E WEDELE X
18|B|SEVES FHESERR | g1 | g2 | B3 | B4 | A5 |=#T| | x| 1455| 1510 |enwmiem
19| | @zEEs BE | W2 | N3 [ W4 | N5 | W6 | =T [ X [ 1550 | 1605 |omsies ﬁ @
2o|k|f3) 2FHERTANGER |y | wp | maE | & | | ¥ | x| 1320 1335 |amaze g 5%? -]
21| K|ZZHEMTAL CONER| max | x| e | we | V| T | 2 | x| 1820| 18335 |sanmmes
22| & HNESRROBINY T — X
23| t|esmsos A
2418 A
25| B|FaIb 2 FESBHAES B1| A2 | B3| A4 | A5 |=#T| | | x| 14555 | 1510
26| | [H80) BB | N2 | N3 | R4 | N5 | N6 | ZhT|O| 1550 | 16:30
27|k K1 | K2 | K3 | K4 | K5 | K6 | ZhT|O|1550| 16:30
28(A K1 [ AR2 | R | R4 [ A5 | & | ZPT| X| 1660 | 1605
29|& £1 | £2 | £3 | £4 | €5 | HE |ZPT| 0| 1550| 1630
30| x| =)
(1 2BDOFE]
48 0K ~68 (& BABHR 118 (0 3EB 138 @ LESROBEEN<E 208 @ ARK 238 () #ER




